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BIEE=4Y g [#TFK] FHIRE (2018458 [EREREFELRYRIRLTT, K- DHEToLIBDREEZRBLTLS, |

JE{AI (A3-5)
EfiER SEDELEER TIEFEREKE
B ] EES FE 2% ] EES FAE 2F IR RE | om
(R 20174E5 8 | 20174E7H |20174E103 |20184E1 59 2‘0'18359)%14EI~ TR KEEE =R TRE
158 ~ 108~ 108 ~ H~ 201845H8H 178
_ 5198 | 78148 [ 104148 | 18138 _ _
X5 - [ [ B~ B~E NG £ - -
KR °c 214 225 23.0 220 208 30.1 - -
s (op.+m) | 3014 3014 3014 3014 2.976 2.976 - -
TS (OP. +m) || 2.947 2.947 2.947 2.947 2.906 2.906 - -
T (BFE+m) -2.42 -2.39 -2.45 -2.59 -2.13 -2.23 - -
. (0P. +m) | 0527 0.557 0.497 0.357 0.776 0.676 - -
Bi5 oH - 8.1 7.8 7.9 7.7 76 7 - -
ESfpER mS/m 97.0 94.3 88.4 85.8 720 111 - 0.1
kT3 || oA | mokomEa | ko | kA | ke | koA
- AYRSEYT | AYRIEYT | AYRERYT | ATYRSE YT Kepky7 AREE YD
AYGERE) - % aa: | wE4) A1) wE W& - - (B
j=H - %18 %18 %18 %18 =1 HEE — —
EF RS <0.0002 | <0.0002 | <0.0002 | <0.0002 < 0.0002 < 0.0002 0.002 0.0002
12->4/00T4Y < 0.0004 | <0.0004 | <0.0004 | <0.0004 < 0.0004 < 0.0004 0.004 0.0004
11->4/00TFLY <0.002 | <0002 | <0.002 [ <0002 < 0.002 < 0.002 0.1 0.002
S 12-H/OnIFLYy <0.004 | <0004 | <0.004 [ <0004 < 0.004 < 0.004 0.04 0.004
13->yOo07aRy <0.0002 | <0.0002 | <0.0002 | <0.0002 < 0.0002 < 0.0002 0.002 0.0002
e R SHOOAra <0.002 | <0002 | <0.002 [ <0002 < 0.002 < 0.002 0.02 0.002
F-ENEAEHA FrSYOOITFLY < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 0.01 0.001
1,1,1-kJoaaxIay <01 <01 <01 <0.1 <0.1 <0.1 1 0.1
1,1,2-kJoBaxI2y < 0.0006 | <0.0006 | <0.0006 | <0.0006 < 0.0006 < 0.0006 0.006 0.0006
r)ZOOTFLY <0.003 | <0003 | <0.003 [ <0003 < 0.003 < 0.003 0.03 0.003
oty " < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 0.01 0.001
4~O0IFLY me <0.0002 | <0.0002 | <0.0002 | <0.0002 < 0.0002 < 0.0002 0.002 0.0002
HREVLRUZDILEY < 0.0003 | <0.0003 [ <0.0003 | <0.0003 < 0.0003 < 0.0003 0.01 0.0003
NEYOLIEEY <0.01 < 0.01 < 0.01 <0.01 <0.01 <0.01 0.05 0.01
STALEW Tl | FHEH | THEE | FEdH THaH THaH BmHShEWNIE| 01
KEERUVZDILEY < 0.0005 | <0.0005 | <0.0005 [ < 0.0005 < 0.0005 < 0.0005 0.0005 0.0005
E-BEREEEWE 7}l’$)b7{<ﬁ§ THaH THaH T T ERE T ERET BEENEONZE| 00005
—=ET = ELURUVZDIEEY < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 0.01 0.001
MEUVZDIEED < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 0.002 0.01 0.001
HERVZDILEY 0.008 0.051 0.058 0.021 0.006 0.048 0.01 0.001
AO2RRUVZDILEW 43 5.2 5.8 5.8 26 5.2 0.8 0.08
IF3RRUVZDILEY 0.2 0.3 0.3 0.3 1.3 0.5 1 0.1
FAAXL pg-TEQ/L|l 0074 0.082 0.077 0.078 f 0.18 S 1 -
KFE . EREBBAERT
[,S\o?m IF5FD2IBE CTEEBZBAL TS,
AR CHEAL TO RN EEEERZ TLVEL,
SRR ENBRIEIRE R o= OIS CI-AIREE NS Y. GEIFAESR) XREI11H) hbIE. BRIEREFLRYRAR TS LD RKAEEITS.




BiEE=4) 49 [#TFK] F & (2018458
Jt{HI(A3-2)
(B4 5= $ﬁﬁ§%ﬁ(*§§) E 53 g@wi%@%ﬁ%ﬁ EES TIEFEAEE
i g L] ] A3 3 BRAEE | e
AY / 20184 20184 kR | TR N RE
_ 5588H 8H 108
xR - \ 7 I B - -
Kig °c \ / 20.8 235 - -
higs (OP. +m) \ / 2.874 2.874 - -
T (OP. +m) \ 2.824 2.824 - -
o (E8E+m) -1.94 -2.36 - -
. Lk (0P. £m) 0.884 0514 - -
Bz pH - 76 7.2 - -
ERfEER mS/m \ / 820 723 - 0.1
. s KA EB KA EB
BAAE \ / Kevkvs | Kekvr
BYCBE) - \ / wE wE - - ()
B - A\ / Bae =T - -
Mg b iR \ / <0.0002 <0.0002 0.002 0.0002
1,2->900IT4Y \|/ < 0.0004 < 0.0004 0.004 0.0004
1,1->4yo0xTFLy \ < 0.002 < 0.002 0.1 0.002
LA1,2-UH/0aTFLY < 0.004 < 0.004 0.04 0.004
1,3->H/nooky // \\ < 0.0002 < 0.0002 0.002 0.0002
w3k e SHORARY < 0.002 < 0.002 0.02 0.002
RENEATRE 25,001y / 1\ < 0.001 < 0.001 0.01 0.001
1,1,1-k)HonxTay / \ <0.1 <0.1 1 0.1
1,1,2-k)oonxsy / \ < 0.0006 < 0.0006 0.006 0.0006
k)oOOIFLY / \ < 0.003 < 0.003 0.03 0.003
Rty " / \ < 0.001 < 0.001 0.01 0.001
HoOoTFLY me / \ < 0.0002 < 0.0002 0.002 0.0002
ARV LRUVZDIEEY <0.0003 < 0.0003 0.01 0.0003
ANEZOLIEEY <0.01 <0.01 0.05 0.01
LT EY TR THRH BHEINAWNIE] 01
KEERUVZDILEY // \ < 0.0005 < 0.0005 0.0005 0.0005
o — - TILFILIKER T T BHINALTE| 0.0005
BERERENE Y g iz 0ika / \ <0.001 < 0.001 0.01 0.001
SRUZDILEY / \ < 0.001 0.002 0.01 0.001
HERVZOILLEY / \ 0.001 0.001 0.01 0.001
AOERUVEDILED / \ 13 1.7 0.8 0.08
F5SHRRUZDIEEY / \ 1.2 1.1 1 0.1
FAAXXIUEE pg-TEQ/L 0.26 0.31 1 -
KFE . BEERBETRT

[ Aok, [FORD2AEE THEBEEBEL TS,
£oKHh RIS (AL (A3-5)] 3 R D BFIEER T, EEBL TV RN EEBEEZ TLVEL,
DR ENBRIEERE R o= ICELT-AIEEE N B, GERZ RIS ER) RE(11A)ASIE, BRIEREFLCRIR IR TIELBKBEETS.




BET-A4YLS [#TK] FHISRE (2018458H)

ISR A I 1-9) IS R A I 1-9)
5= EES] FAHEA ZF 5= EES FUHA ¥ OF shodt s
(B |[20174E5 8 (2017467 A (201746108 | 201841 A iiﬁﬁig%,ﬁ
158~ 10H~ 10H~ 9Bl ~ 201855888 |Fm30&E8A10H
58198 | 78148 | 108148 | 1A138 _ _
= - [ 3 B~ | B~E = - -
7}(55 °c 16.3 19.0 20.7 18.5 20.1 20.8 -
Hhigs (OP. +m) || 2496 2.496 2.496 2.496 2.789 2.789 -
%Eﬁ% (OP. £m) 2427 2427 2427 2427 2.409 2.409 -
= L (BEE+m) -1.95 -1.91 -1.94 -2.07 -1.66 -1.95 -
Iﬁ'iﬁ ?LI*UK‘[LL (OP. £m) 0.477 0.517 0.487 0.357 0.749 18.85 -
pH - 4.2 3.9 42 5.3 5.2 3.3 -
@’i{ﬁﬁ:& mS/m 250 263 217 143 100 156 -
AY - ] i HiE@®7) | HhiEe4) HE A -
=HE = [RE [REE [RE R a=h= a=h= -
migkx®E <0.0002 | <0.0002 | <0.0002 | <0.0002 <.0.0002 <0.0002 0.002
1,2->490nI4y < 0.0004 | < 0.0004 | <0.0004 | <0.0004 < 0.0004 < 0.0004 0.004
1,1-yonxFLy <0.002 | <0002 | <0002 | <0.002 < 0.002 < 0.002 0.1
S Z12->H/O00TFLY <0.004 | <0.004 | <0004 | <0.004 < 0.004 < 0.004 0.04
1,3-ynonJoRky < 0.0002 | < 0.0002 | <0.0002 | <0.0002 < 0.0002 < 0.0002 0.002
- - SHOQARL <0.002 | <0002 | <0002 | <0.002 < 0.002 < 0.002 0.02
R-RRNERERA ThZHYOOIFLY <0.001 | <0.001 | <0.001 | <0.001 < 0.001 < 0.001 0.01
1,1,1-k)yonT 4y <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 1
1,1,2-k)yonxT 4y < 0.0006 | < 0.0006 | < 0.0006 | < 0.0006 < 0.0006 < 0.0006 0.006
rJHOQITFLY <0.003 | <0.003 | <0.003 | <0.003 < 0.003 < 0.003 0.03
oty mg/L <0.001 | <0001 | <0001 | <0.001 < 0.001 < 0.001 0.01
JO0TFLY < 0.0002 | < 0.0002 | <0.0002 | <0.0002 < 0.0002 < 0.0002 0.002
ARV LRUZDIEEY < 0.0003 [ <0.0003 [ <0.0003 | <0.0003 < 0.0003 < 0.0003 0.01
NEZOLIEEY <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 0.05
LTUEED T | TRE | TRYE | T8YE T T BRSO E
KEBEUVZDILEY < 0.0005 | < 0.0005 [ < 0.0005 | < 0.0005 < 0.0005 < 0.0005 0.0005
EoEREAEYE 7L ILIKAR Tl | THRE | FRE | FRHE EN T TR BmHShALNIE
= LU RUZDILED 0.006 0.005 0.006 0.004 0.004 0.004 0.01
BMRERUVZEDIEEY < 0.001 0.007 <0.001 | <0.001 < 0.001 0.001 0.01
MERUVZDILEY 0.002 0.002 0.002 0.001 0.004 0.003 0.01
SORRUVZDIEEY 7.3 13 9.0 7.8 85 8.6 0.8
IF5FRRUZDIELEY 0.2 0.2 0.3 0.2 0.2 0.3 1
FAXF 5B pg-TEQ/L| 0.52 0.43 0.37 0.63 0.85 0.95 1

FFE . BEBBETRY




BET-A4YLS [#TK] FHISRE (2018458H)
RIS B E(HA-2) B IS B A(HA-2)
5= EES] FAHEA ZF 5= EES FUHA £ SF shodt s
(B |[20174E5 8 (2017467 A (201746108 | 201841 A iiﬁ’-ﬁigfﬁ_ﬁ EETRE
158~ 10H~ 10H~ 9Bl ~ 201855878 [Fm30&E8A10H
58198 | 78148 | 108148 | 1A138 _
B - [ 3 B~ | B~E & E - -
7}(5% °c 211 20.1 21.8 18.0 174 21.7 - -
Hhigs (OP. +m) || 0895 0.895 0.895 0.895 2.121 2.121 - -
%Eﬁ% (OP. £m) 1.938 1.938 1.938 1.938 1.931 1.931 - -
= L (BEE+m) -1.55 -1.52 -1.59 -1.74 -1.43 -1.58 - -
Iﬁ'iﬁ ?LI*UK‘[;L (OP. £m) 0.388 0.418 0.348 0.198 0.501 0.351 - -
pH - 8.0 7.9 7.8 75 75 7.2 - -
%ﬁ{ﬁﬁﬁ mS/m 137 213 131 118 150 175 - 0.1
Al - WA wWiE wWAQ) | B0 wWE WA - - ()
=HE - K18 X48 X448 X418 a=h= MER - -
Mgk <0.0002 | <0.0002 | <0.0002 | <0.0002 <.0.0002 <0.0002 0.002 0.0002
1,2->490nI4y < 0.0004 | < 0.0004 | <0.0004 | <0.0004 < 0.0004 < 0.0004 0.004 0.0004
1,1-yonxFLy <0.002 | <0002 | <0002 | <0.002 < 0.002 < 0.002 0.1 0.002
S Z12->H/O00TFLY <0.004 | <0.004 | <0004 | <0.004 < 0.004 < 0.004 0.04 0.004
1,3-ynonJoRky < 0.0002 | < 0.0002 | <0.0002 | <0.0002 < 0.0002 < 0.0002 0.002 0.0002
- - SHOQARL <0.002 | <0002 | <0002 | <0.002 < 0.002 < 0.002 0.02 0.002
R-RRNERERA ThZHYOOIFLY <0.001 | <0.001 | <0.001 | <0.001 < 0.001 < 0.001 0.01 0.001
1,1,1-k)yonT 4y <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 1 0.1
1,1,2-k)yonxT 4y < 0.0006 | < 0.0006 | < 0.0006 | < 0.0006 < 0.0006 < 0.0006 0.006 0.0006
rJHOQITFLY <0.003 | <0.003 | <0.003 | <0.003 < 0.003 < 0.003 0.03 0.003
oty mg/L <0.001 | <0001 | <0001 | <0.001 < 0.001 < 0.001 0.01 0.001
JO0TFLY < 0.0002 | < 0.0002 | <0.0002 | <0.0002 < 0.0002 < 0.0002 0.002 0.0002
ARV LRUZDIEEY < 0.0003 [ <0.0003 [ <0.0003 | <0.0003 < 0.0003 < 0.0003 0.01 0.0003
ANz aLIEED <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 0.05 0.01
LTUEED T | TRE | TRYE | T8YE T T BHEINAGLNIE| 041
KEBRUVZDILED < 0.0005 | < 0.0005 | < 0.0005 | < 0.0005 < 0.0005 < 0.0005 0.0005 0.0005
#-measyy |7V TR FHRE | BRE | FAERE | TR FHH FHH BmHEhANIE| 00005
= LU RUZDILED <0.001 | <0.001 | <0.001 | <0.001 < 0.001 < 0.001 0.01 0.001
BMRERUVZEDIEEY 0.002 | <0.001 [ <0.001 | <0.001 < 0.001 0.002 0.01 0.001
MERUVZDILEY <0.001 | <0.001 | <0.001 | <0.001 < 0.001 < 0.001 0.01 0.001
SORRUVZDIEEY 2.0 2.8 2.1 2.0 1.8 1.9 0.8 0.08
IF5FRRUZDIELEY 0.2 0.3 0.2 0.2 0.4 0.4 1 0.1
FAXF 5B pg-TEQ/L| 0.061 0.060 0.060 0.056 0.069 0.051 1 —

FRF

HEEHEBETY



